Progress Probe #1660513: 6th Grade Science TCAP Blitz Moderate Questions April 8-April 12 Week 6 (Grade 06 SC)
	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	D  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.1 Design Experiment [99073]
	D100996

	2
	D  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.1 Design Experiment [99073]
	D103286

	3
	B  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.2 Select Experimental Procedures [99074]
	D102667

	4
	D  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.3 Translate Data [99075]
	D110787

	5
	B  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.3 Translate Data [99075]
	D110785

	6
	B  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.4 Cause and Effect [99076]
	D100504

	7
	B  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0607.Inq.5 Experimental Error [99077]
	D101080

	8
	C  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0607.T/E.2 Evaluate Protocol [99079]
	D101293

	9
	B  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0607.T/E.3 Intented vs Unintended Consequences [99080]
	D101292

	10
	A  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0607.T/E.4 Adaptive vs Assistive Bioengineering [99081]
	D110359

	11
	A  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.1 Producer / Consumer / Decomposer [99082]
	U55781

	12
	B  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.1 Producer / Consumer / Decomposer [99082]
	D58618

	13
	C  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.1 Producer / Consumer / Decomposer [99082]
	D86131

	14
	A  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.2 Matter & Energy in Ecosystems [99083]
	D53294

	15
	A  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.2 Matter & Energy in Ecosystems [99083]
	D81600

	16
	C  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.3 Biotic / Abiotic [99084]
	U55753

	17
	C  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.3 Biotic / Abiotic [99084]
	D86807

	18
	B  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.3 Biotic / Abiotic [99084]
	D81673

	19
	D  
	Moderate  
	LS: Interdependence  
	SPI 0607.2.4 Describe Major Biomes [99085]
	U55929

	20
	C  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.1 Components of Universe [99086]
	U55801

	21
	A  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.1 Components of Universe [99086]
	U55802

	22
	B  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.2 Distance and Appearance [99087]
	D110632

	23
	D  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.3 Day vs Month vs Year [99088]
	U55878

	24
	B  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.3 Day vs Month vs Year [99088]
	U55874

	25
	D  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.4 Explain Moon Phases [99089]
	D101809

	26
	D  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.5 Tides [99090]
	D84600

	27
	A  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.6 Four Seasons [99091]
	D55207

	28
	A  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.6 Four Seasons [99091]
	D57971

	29
	A  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.7 Solar vs Lunar Eclipse [99092]
	D58163

	30
	B  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.7 Solar vs Lunar Eclipse [99092]
	D63174

	31
	D  
	Moderate  
	ES 2: The Atmosphere  
	SPI 0607.8.2 Solar Energy and Wind [99094]
	D110367

	32
	A  
	Moderate  
	ES 2: The Atmosphere  
	SPI 0607.8.3 Ocean Currents [99095]
	D110637

	33
	D  
	Moderate  
	ES 2: The Atmosphere  
	SPI 0607.8.4 Make Weather Predictions [99096]
	U55932

	34
	C  
	Moderate  
	ES 2: The Atmosphere  
	SPI 0607.8.4 Make Weather Predictions [99096]
	U55933

	35
	C  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.1 Types of Potential Energy [99097]
	D110398

	36
	C  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.2 Potential and Kinetic [99098]
	D101459

	37
	C  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	U55901

	38
	C  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	U55958

	39
	B  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.4 Conservation of Energy [99100]
	D111286

	40
	C  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.12.1 Circuits [99101]
	U55521

	41
	B  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.12.1 Circuits [99101]
	U55740

	42
	D  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.12.2 Conduct Electricity [99102]
	D101984

	43
	A  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.12.2 Conduct Electricity [99102]
	D101771

	44
	C  
	Moderate  
	ES 1: The Universe  
	SPI 0607.6.6 Four Seasons [99091]
	D85324

	45
	D  
	Moderate  
	ES 2: The Atmosphere  
	SPI 0607.8.1 Heat Convection in Atmosphere [99093]
	D110363

	46
	B  
	Moderate  
	ES 2: The Atmosphere  
	SPI 0607.8.3 Ocean Currents [99095]
	D110636

	47
	A  
	Moderate  
	ES 2: The Atmosphere  
	SPI 0607.8.4 Make Weather Predictions [99096]
	U55934

	48
	D  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.1 Types of Potential Energy [99097]
	D110399

	49
	A  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.4 Conservation of Energy [99100]
	D111289

	50
	B  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.12.1 Circuits [99101]
	U55718
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6th Grade Science TCAP Blitz Moderate Questions April 9-April 13 Week 6
	Question 1 of 50

	Which of the following would be considered a poor method of scientific investigation?

	 
	 
	 
	 
	 

	[image: image1.wmf]  
	A.
	using a control in the investigation

	[image: image2.wmf]  
	B.
	forming a hypothesis before beginning the investigation

	[image: image3.wmf]  
	C.
	re-doing the same investigation to verify your results

	[image: image4.wmf]  
	D.
	copying the data from another person's investigation if yours looks wrong

	 


	Question 2 of 50

	An experiment is conducted to determine whether organic or inorganic fertilizers are most effective. Which of the following plants would serve as the control plant?

	 
	 
	 
	 
	 

	[image: image5.wmf]  
	A.
	the plant with organic fertilizers

	[image: image6.wmf]  
	B.
	the plant with inorganic fertilizers

	[image: image7.wmf]  
	C.
	the plant with both organic and inorganic fertilizers

	[image: image8.wmf]  
	D.
	the plant with no fertilizer

	 


	Question 3 of 50

	Which answer best explains why an apron should be worn in the lab?

	 
	 
	 
	 
	 

	[image: image9.wmf]  
	A.
	to prevent ink or marker stains from damaging your clothing

	[image: image10.wmf]  
	B.
	to prevent hazardous chemicals from getting on your skin or clothing

	[image: image11.wmf]  
	C.
	to keep your snack from staining your clothes

	[image: image12.wmf]  
	D.
	to help you look like a real scientist

	 


	Question 4 of 50

	Sharon is working on a project about genetics. She surveyed her classmates to find out what percentage of them have a certain eye color. Her data are shown below: 

Blue eyes: 9
Brown eyes: 11
Green eyes: 2
Hazel eyes: 7

	 

	Which pie chart correctly shows her data?

	 
	 
	 
	 
	 

	[image: image13.wmf]  
	A.
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	B.
	[image: image16.png]Eye Color of Classmates

Brown
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	C.
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	[image: image19.wmf]  
	D.
	[image: image20.png]assmates
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	Question 5 of 50

	Chelsea recorded the average temperatures in Nashville, Tennessee every day for one week. Her data are shown below: 

Monday: 68 °F
Tuesday: 71 °F
Wednesday: 78 °F
Thursday: 80 °F
Friday: 82 °F
Saturday: 81 °F
Sunday: 81 °F

	 

	Which line graph show the trend of the temperatures for the week?
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	A.
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	B.
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	C.
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	D.
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	Question 6 of 50

	A base and an acid will react. Baking soda is a base. Baking soda reacts with an acid. This is an example of ______________________.

	 
	 
	 
	 
	 

	[image: image29.wmf]  
	A.
	inductive reasoning

	[image: image30.wmf]  
	B.
	deductive reasoning

	[image: image31.wmf]  
	C.
	common knowledge

	[image: image32.wmf]  
	D.
	indirect reasoning

	 


	Question 7 of 50

	In order for a scientific experiment to be a fair test, there must only be one _____________.

	 
	 
	 
	 
	 

	[image: image33.wmf]  
	A.
	controlled variable

	[image: image34.wmf]  
	B.
	independent variable

	[image: image35.wmf]  
	C.
	examination

	[image: image36.wmf]  
	D.
	measurement

	 


	Question 8 of 50

	Which of the following is the best reasoning for why scientific theories change throughout time?

	 
	 
	 
	 
	 

	[image: image37.wmf]  
	A.
	all of earth's processes change

	[image: image38.wmf]  
	B.
	humans have larger brains

	[image: image39.wmf]  
	C.
	improvements are made in tools and technology

	[image: image40.wmf]  
	D.
	the invention of television

	 


	Question 9 of 50

	Alfred Wegener's theory of continental drift was the basis upon which the ___________________ was founded. 

	 
	 
	 
	 
	 

	[image: image41.wmf]  
	A.
	theory of evolution

	[image: image42.wmf]  
	B.
	plate tectonic theory

	[image: image43.wmf]  
	C.
	global warming theory

	[image: image44.wmf]  
	D.
	middle earth theory

	 


	Question 10 of 50

	Biologists are working to develop a strain of bacteria that can decompose petroleum in salt water habitats. They started with a strain of bacteria that lives in fresh water and has been observed to break down vegetable oils. 

Which word best characterizes the bio-engineered product these biologists hope to produce?

	 
	 
	 
	 
	 

	[image: image45.wmf]  
	A.
	adaptive

	[image: image46.wmf]  
	B.
	aggressive

	[image: image47.wmf]  
	C.
	assistive

	[image: image48.wmf]  
	D.
	attractive

	 


	Question 11 of 50

	The table below lists features of two groups of plants. 

Group1 

Group 2 

leaves needle-like and in pairs 

leaves large, oval and single 

reproductive structure: cones 

reproductive structure: flower 

Which of the following plants would be best classified into Group 1? 

	 
	 
	 
	 
	 

	[image: image49.wmf]  
	A.
	pine tree 

	[image: image50.wmf]  
	B.
	oak tree 

	[image: image51.wmf]  
	C.
	cactus 

	[image: image52.wmf]  
	D.
	rose 

	 


	Question 12 of 50

	In the food web shown below, the rabbit is the primary food source for snakes, owls, and cats. If the rabbit population is infected with a disease that causes them to die off, what will happen to the populations of snakes, owls, and cats? 

[image: image53.png]Rabbit





	 
	 
	 
	 
	 

	[image: image54.wmf]  
	A.
	They will remain unchanged due to the decrease in rabbits.

	[image: image55.wmf]  
	B.
	They will decrease because their main food source decreaed.

	[image: image56.wmf]  
	C.
	They will increase because their food source decreased.

	[image: image57.wmf]  
	D.
	They will increase because their main food source decreased.

	 


	Question 13 of 50

	In a simple food web, mice and grasshoppers eat plants, and birds eat grasshoppers. 

[image: image58.png]



How many trophic levels exist in this description?

	 
	 
	 
	 
	 

	[image: image59.wmf]  
	A.
	There is one trophic level.

	[image: image60.wmf]  
	B.
	There are two trophic levels.

	[image: image61.wmf]  
	C.
	There are three trophic levels.

	[image: image62.wmf]  
	D.
	There are four trophic levels.

	 


	Question 14 of 50

	What happens to an ecosystem if there is less available food than normal?

	 
	 
	 
	 
	 

	[image: image63.wmf]  
	A.
	the population might decrease

	[image: image64.wmf]  
	B.
	trees would replace other plants

	[image: image65.wmf]  
	C.
	the population would increase

	[image: image66.wmf]  
	D.
	more people would move into the area

	 


	Question 15 of 50

	What is the living part of any ecosystem called?

	 
	 
	 
	 
	 

	[image: image67.wmf]  
	A.
	a community

	[image: image68.wmf]  
	B.
	a habitat

	[image: image69.wmf]  
	C.
	a population

	[image: image70.wmf]  
	D.
	a consumer

	 


	Question 16 of 50

	Which of the following is the result of a forest fire? 

	 
	 
	 
	 
	 

	[image: image71.wmf]  
	A.
	Animal populations grow fast. 

	[image: image72.wmf]  
	B.
	The average daily temperature decreases. 

	[image: image73.wmf]  
	C.
	Small plants begin to grow in the area. 

	[image: image74.wmf]  
	D.
	Soil is compacted into solid rock. 

	 


	Question 17 of 50

	Abiotic factors can be divided into three main categories: geologic, social, and ______.

	 
	 
	 
	 
	 

	[image: image75.wmf]  
	A.
	living

	[image: image76.wmf]  
	B.
	non-physical

	[image: image77.wmf]  
	C.
	climatic

	[image: image78.wmf]  
	D.
	biological

	 


	Question 18 of 50

	Biotic factors are __________.

	 
	 
	 
	 
	 

	[image: image79.wmf]  
	A.
	all the basic needs of the organism

	[image: image80.wmf]  
	B.
	anything that affects a living organism that is itself alive

	[image: image81.wmf]  
	C.
	non-living components of an organism's environment

	[image: image82.wmf]  
	D.
	factors such as light, temperature, and wind

	 


	Question 19 of 50

	Which of the following is most likely responsible for pollinating a flower that has bright colors and produces nectar? 

	 
	 
	 
	 
	 

	[image: image83.wmf]  
	A.
	wind 

	[image: image84.wmf]  
	B.
	water 

	[image: image85.wmf]  
	C.
	snails 

	[image: image86.wmf]  
	D.
	insects 

	 


	Question 20 of 50

	Where is the asteroid belt located in the solar system? 

	 
	 
	 
	 
	 

	[image: image87.wmf]  
	A.
	It is located between Mercury and the Sun. 

	[image: image88.wmf]  
	B.
	Orbiting around Neptune and Pluto. 

	[image: image89.wmf]  
	C.
	It is located between Mars and Jupiter. 

	[image: image90.wmf]  
	D.
	Orbiting between Earth and Venus. 

	 


	Question 21 of 50

	Which is a characteristic of asteroids? 

	 
	 
	 
	 
	 

	[image: image91.wmf]  
	A.
	Asteroids have a thick atmospheres. 

	[image: image92.wmf]  
	B.
	Asteroids are made rock and minerals. 

	[image: image93.wmf]  
	C.
	Asteroids have moons. 

	[image: image94.wmf]  
	D.
	Asteroids rotate around the Sun. 

	 


	Question 22 of 50

	The Moon and the Sun can eclipse each other from the viewpoint of observers on Earth. This is because they appear to be the same size in the sky. 

Which sentence explains this?

	 
	 
	 
	 
	 

	[image: image95.wmf]  
	A.
	The Moon and the Sun are exactly the same size, shape, and distance from Earth.

	[image: image96.wmf]  
	B.
	Although the Sun is much larger than the Moon, it is also much farther away from Earth.

	[image: image97.wmf]  
	C.
	The light that comes from the Moon has the same source as light that comes from the Sun.

	[image: image98.wmf]  
	D.
	The Sun and the Moon revolve around Earth at about the same speed.

	 


	Question 23 of 50

	Spring tides are produced by strong gravitational forces that cause the tidal range to be higher than normal. Which of the following statements best explains when spring tides occur? 

	 
	 
	 
	 
	 

	[image: image99.wmf]  
	A.
	They occur when the sun and moon are perpendicular to Earth and the moon. 

	[image: image100.wmf]  
	B.
	They occur when the moon and Earth form a 45 degree angle with the sun. 

	[image: image101.wmf]  
	C.
	They occur when the sun, Earth, and moon form a 135 degree angle. 

	[image: image102.wmf]  
	D.
	They occur when the sun, Earth, and moon are all aligned. 

	 


	Question 24 of 50

	The drawing was made to show how the sun and Earth are positioned at different seasons of the year. 

[image: image103.png]“




Which of the following is also needed to demonstrate how seasons are caused? 

	 
	 
	 
	 
	 

	[image: image104.wmf]  
	A.
	the speed of revolution 

	[image: image105.wmf]  
	B.
	the tilt of Earth 

	[image: image106.wmf]  
	C.
	the rotation of Earth 

	[image: image107.wmf]  
	D.
	the distance to the sun 

	 


	Question 25 of 50

	Which of the following is the correct moon phase order?

	 
	 
	 
	 
	 

	[image: image108.wmf]  
	A.
	new moon, crescent moon, gibbous moon, quarter moon, full moon

	[image: image109.wmf]  
	B.
	new moon, gibbous moon, quarter moon, crescent moon, full moon

	[image: image110.wmf]  
	C.
	crescent moon, quarter moon, gibbous moon, full moon, new moon

	[image: image111.wmf]  
	D.
	new moon, crescent moon, quarter moon, gibbous moon, full moon

	 


	Question 26 of 50

	Use the diagram to answer the question.

[image: image112.png]




	 

	At which locations will people observe high tides?

	 
	 
	 
	 
	 

	[image: image113.wmf]  
	A.
	location 1 and 2 

	[image: image114.wmf]  
	B.
	location 2 and 4 

	[image: image115.wmf]  
	C.
	location 2 and 3 

	[image: image116.wmf]  
	D.
	location 1 and 3 

	 


	Question 27 of 50

	Look at the picture. 

[image: image117.png]



If 4 shows the shortest day of the year, which number shows winter in North America?

	 
	 
	 
	 
	 

	[image: image118.wmf]  
	A.
	Number 1

	[image: image119.wmf]  
	B.
	Number 2

	[image: image120.wmf]  
	C.
	Number 3

	[image: image121.wmf]  
	D.
	Number 4

	 


	Question 28 of 50

	Which number in the diagram below shows the relationship between the Earth and the Sun in summer in South America? 

[image: image122.png]




	 
	 
	 
	 
	 

	[image: image123.wmf]  
	A.
	Number 1

	[image: image124.wmf]  
	B.
	Number 2

	[image: image125.wmf]  
	C.
	Number 3

	[image: image126.wmf]  
	D.
	Number 4

	 


	Question 29 of 50

	Soemtimes the Moon passes between Earth and the Sun, blocking sunlight from reaching Earth. This causes the Moon's shadow to hit Earth. When this ocurs it is called _______________.

	 
	 
	 
	 
	 

	[image: image127.wmf]  
	A.
	a solar eclipse.

	[image: image128.wmf]  
	B.
	a lunar eclipse.

	[image: image129.wmf]  
	C.
	a planetary eclipse.

	[image: image130.wmf]  
	D.
	an asteroid.

	 


	Question 30 of 50

	Sometimes the Earth is directly between the sun and the moon. This causes a blocking of sunlight to the moon. When this occurs it is called 

	 
	 
	 
	 
	 

	[image: image131.wmf]  
	A.
	a solar eclipse.

	[image: image132.wmf]  
	B.
	a lunar eclipse.

	[image: image133.wmf]  
	C.
	a planetary eclipse.

	[image: image134.wmf]  
	D.
	an asteroid.

	 


	Question 31 of 50

	The Sun's rays deliver the most heat to the northern hemisphere during June, July, and August. The Sun's rays deliver the most heat to the southern hemisphere during December, January, and February. 

What is produced by this uneven heating of Earth's hemispheres?

	 
	 
	 
	 
	 

	[image: image135.wmf]  
	A.
	fire

	[image: image136.wmf]  
	B.
	soil

	[image: image137.wmf]  
	C.
	water

	[image: image138.wmf]  
	D.
	wind

	 


	Question 32 of 50

	Jamal read that currents that run along the surface of the ocean are usually warmer than currents that run through the ocean depths. 

Which property helps drive the motions of these currents?

	 
	 
	 
	 
	 

	[image: image139.wmf]  
	A.
	density

	[image: image140.wmf]  
	B.
	texture

	[image: image141.wmf]  
	C.
	volume

	[image: image142.wmf]  
	D.
	color

	 


	Question 33 of 50

	Carlos hears a weather forecast that says high pressure is moving into the area. Which weather condition will Carlos most likely observe after the high pressure has moved into the area? 

	 
	 
	 
	 
	 

	[image: image143.wmf]  
	A.
	heavy precipitation 

	[image: image144.wmf]  
	B.
	increasing humidity 

	[image: image145.wmf]  
	C.
	rising temperatures 

	[image: image146.wmf]  
	D.
	decreasing cloudiness 

	 


	Question 34 of 50

	John hears a weather forecast that a warm front is moving into the area. Which weather condition is John most likely to observe when the warm front passes through? 

	 
	 
	 
	 
	 

	[image: image147.wmf]  
	A.
	increased pressure 

	[image: image148.wmf]  
	B.
	decreasing cloudiness 

	[image: image149.wmf]  
	C.
	increased precipitation 

	[image: image150.wmf]  
	D.
	decreasing temperatures 

	 


	Question 35 of 50

	A flooded stream deposited a large rock high in the branches of a tree. This caused the rock to have a type of potential energy. 

What type of potential energy does the rock have?

	 
	 
	 
	 
	 

	[image: image151.wmf]  
	A.
	chemical

	[image: image152.wmf]  
	B.
	elastic

	[image: image153.wmf]  
	C.
	gravitational

	[image: image154.wmf]  
	D.
	mineral

	 


	Question 36 of 50

	What units are used to measure kinetic energy?

	 
	 
	 
	 
	 

	[image: image155.wmf]  
	A.
	feet

	[image: image156.wmf]  
	B.
	grams

	[image: image157.wmf]  
	C.
	joules

	[image: image158.wmf]  
	D.
	metes

	 


	Question 37 of 50

	Which of the following structures converts light energy into chemical energy? 

	 
	 
	 
	 
	 

	[image: image159.wmf]  
	A.
	mitochondria 

	[image: image160.wmf]  
	B.
	ribosomes 

	[image: image161.wmf]  
	C.
	chloroplasts 

	[image: image162.wmf]  
	D.
	vacuoles 

	 


	Question 38 of 50

	Plants use chlorophyll to carry out the process of photosynthesis. Where is chlorophyll located in plant cells? 

	 
	 
	 
	 
	 

	[image: image163.wmf]  
	A.
	cell walls 

	[image: image164.wmf]  
	B.
	ribosomes 

	[image: image165.wmf]  
	C.
	chloroplasts 

	[image: image166.wmf]  
	D.
	mitochondria 

	 


	Question 39 of 50

	What happens to part of the chemical energy stored in blackberries when they are eaten by a brown bear?
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	A.
	The chemical energy is destroyed.

	[image: image168.wmf]  
	B.
	The chemical energy is converted into cellular energy.

	[image: image169.wmf]  
	C.
	The chemical energy is converted into solar energy.

	[image: image170.wmf]  
	D.
	The chemical energy is increased by a factor of twenty.
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	Which of the following describes a chemical change? 
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	A.
	Copper forms a thin sheet when pounded with a hammer. 

	[image: image172.wmf]  
	B.
	Salt dissolves when stirred into water. 

	[image: image173.wmf]  
	C.
	Baking soda bubbles when combined with vinegar. 

	[image: image174.wmf]  
	D.
	Water boils when heated in a pan. 
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	Which of the following best describes how sound energy travels from a radio's speakers to a person's ears? 
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	A.
	through up-and-down waves 

	[image: image176.wmf]  
	B.
	through back-and-forth waves 

	[image: image177.wmf]  
	C.
	through water vapor present in the air 

	[image: image178.wmf]  
	D.
	through temperature changes in the air 
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	Which of the following is generally a characteristic of a nonmetal?
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	A.
	They have high densities.
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	B.
	They have high melting points.

	[image: image181.wmf]  
	C.
	As a solid, they are shiny and ductile.
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	D.
	They are poor conductors of electricity.
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	An unidentified substance is found to have a high density, a high melting point, and appears lustrous and malleable. This substance is most likely ____________.
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	A.
	aluminum

	[image: image184.wmf]  
	B.
	sulfur

	[image: image185.wmf]  
	C.
	oxygen

	[image: image186.wmf]  
	D.
	nitrogen

	 


	Question 44 of 50

	Prairies in the United States have periods of less and heavy rainfall. Which of these plants will be able to survive in prairies?
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	A.
	trees with leaves shaped like needles

	[image: image188.wmf]  
	B.
	tall evergreen trees with thick top cover 

	[image: image189.wmf]  
	C.
	grasses that can survive in dry conditions

	[image: image190.wmf]  
	D.
	small shrubs that can grown in frozen soil
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	Last summer, thunderstorms were mostly predicted for days with an afternoon high temperature above 90 °F. 

Why are thunderstorms often predicted to occur on hot days?

	 
	 
	 
	 
	 

	[image: image191.wmf]  
	A.
	Heat separates water into hydrogen and oxygen which crowds the atmosphere with new gases that react and produce storms.

	[image: image192.wmf]  
	B.
	On hot days the spaces between the atmospheric gas molecules contract and squeeze out extra water which produces storms.

	[image: image193.wmf]  
	C.
	As the temperature of air increases, water moving into the atmosphere slows down and the loss of speed produces storms.

	[image: image194.wmf]  
	D.
	Heat trapped in the lowest level of the atmosphere creates convection currents that transfer energy and produce storms.
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	Some ocean currents are driven by differences in the densities of ocean waters, which is caused partly by differences in salinity within the oceans. 

What else causes ocean waters to have different densities?
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	A.
	the volumes of the waters
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	B.
	the temperatures of the waters
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	C.
	the colors of the waters
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	D.
	the waves in the waters
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	The weather service reports the approach of a cold front and low pressure in the area. Which weather can be expected the most? 
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	A.
	heavy precipitation with low temperature 
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	B.
	increasing humidity 
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	C.
	rising temperatures 
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	D.
	decreasing cloudiness 
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	Jeremy found a pair of swim shorts he lost two years ago. The waistband in the shorts was all stretched out, which made the shorts too big for him. 

Which statement is true about the swim shorts? 
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	A.
	The waistband of the shorts lost electrical potential energy.

	[image: image204.wmf]  
	B.
	The waistband of the shorts lost gravitational potential energy.

	[image: image205.wmf]  
	C.
	The waistband of the shorts lost chemical potential energy.

	[image: image206.wmf]  
	D.
	The waistband of the shorts lost elastic potential energy.
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	The law of conservation of energy states that in a closed system, the total amount of energy in the system __________ over time.
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	A.
	remains constant

	[image: image208.wmf]  
	B.
	steadily decreases

	[image: image209.wmf]  
	C.
	steadily increases

	[image: image210.wmf]  
	D.
	remains unknown
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	Which of the following is an example of a chemical change? 
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	A.
	water freezing 
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	B.
	a bicycle rusting 

	[image: image213.wmf]  
	C.
	a glass breaking 
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	D.
	salt dissolving in water 
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